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General Instructions :

(i)
(ii)
(iii)
(iv)
v)
(vi)

(vii)
(viii)

1.

2.

37/S

All questions are compulsory.

There are total 35 questions in this question paper.

The Question paper is divided into three sections — A, B and C.

Section A has Questions No. 1 to 18 Objective Type Questions (wherein Questions No.
14 to 18 are Case study-based questions) and are of 1 mark each.

Section B has Questions No. 19 to 25 of 2 marks each and Questions No. 26 to 29 are
of 3 marks each.

Section C has Questions No. 30 to 33 of 4 marks each and Questions No. 34 and 35 are
of 5 marks each.

Internal choices are given in some questions.

Support your answer with suitable examples, wherever required.

(A)
(B)
©)
(D)

(A)
(B)
©)
(D)

SECTION A
(Objective Type Questions)

How does stacking and washing of similar utensils together help ?

It increases time spent
It increases stress
It increases energy spent

It develops rhythmic movements and simplifies work

How does food get contaminated ?

By washing and cleaning of food stuffs
By keeping flies away
By cooking in dirty utensils

By keeping in refrigerator

18x1=18

P.T.O.
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Lemon and vinegar can be used to remove which of the following stain ?
(A) Ink (B) Oil
(C) Tea (D) Perspiration

Choose the incorrect pair from the following :

(A)  Consumer Problem : Misleading information
(B)  Food Standard : Silk Mark

(C)  Food Adulterant . Argemone

(D)  Faulty weights : Use of stones

Stains of paints and polishes are dissolved in grease solvents. Which of the
following are grease solvents ?
(A)  Chalk and talcum powder (B) Borax and ammonia

(C)  Methylated spirit and turpentine (D) Tomato and vinegar

Fourteen-year-old Manpreet writes poems on her own. This is which

characteristic of cognitive development ?
(A) Personal fable
(B)  Abstract thinking
(C) Idealism
(D) Imaginary audience
OR
Which of the following activity can five-year-old Shreyansh do ?

(A) Rideatricycle

(B)  Jump very high hurdles
(C)  Think systematically
(D)  Skip rope continuously

P.T.O.



7. Gl ASTAIST O AT G qieEsST i oht Hefetiad mifaferst s 3 s o sy :

(i)  HSTIIT ! A % =i § AT

(i) HSTIIST ot AT L

(iti) g9 H gand

(iv) Afafes ot f=e

frmfafiad o @ @&t faerey g ;

(A) (iv), (@), (ii), (ii)

(B) (i), (D), (iv), (i)

(©) (1), (iii), (iv), (ii)

(D) (i), (@), (iv), (iii)

8. & I o1 foretrs &= 11 € <hifST

gl 1 g 11

(¥ISF % THR) (919 )
1. off g ATl HiSH () foerfmqear el
2. faframe asm (i) RN
3. YRR 1 i (iii) @

EIGKISES

4.  YfaeaTeHs e (iv) FIaiersee

freferftad & & vt fasrea 9T -
(A) 1-(iv), 2-(iii), 3-(ii), 4-(i)
B) 1-(ii), 2-(i), 3-(iv), 4-(iii)
(C)  1-(iii), 2-(ii), 3-(i), 4-(iv)
(D) 1-(i), 2-(iv), 3(iii), 4-(ii)



37/S

Arrange the following activities of finishing a cotton table cloth with starch, in a

proper sequence :

(1)
(ii)
(1i1)
(iv)

Dip the table cloth in starch solution

Wet the table cloth

Dry in sun

Squeeze the extra water

Choose the correct option from the following :

(A)
(B)
©
(D)

Match List I with List IT :

3.

4,

(iv), (), (iii), (i)
(iii), (ii), (iv), (i)
(1), (i), (iv), (i1)
(ii), (), (iv), (iii)

List 1
(Types of food)

Energy giving food
Regulatory food
Body building food

Protective food

(i)

(i)
(iii)
(iv)

List I1
(Nutrients)

Vitamins and Minerals
Proteins
Fibres

Carbohydrates

Choose the correct option from the following :

(A)
(B)
©
(D)

1-(iv), 2-(iii), 3-(ii), 4-(i)

1-(ii), 2-(1), 3-(iv), 4-(iii)

1-(iii), 2-(ii), 3-(i), 4-(iv)

1-(1), 2-(iv), 3-(iii), 4-(ii)
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Match List I with ListII :
List]
(Types of development)
1. Physical development

4.

Cognitive development
Social development

Motor development

(i)

(ii)
(iii)
(iv)

List I1
(Example)

Egocentrism
Jumping
Teeth eruption

Sharing

Choose the correct option from the following :

(A)
(B)
(©)
(D)

Select food items which will provide high satiety value in your school tiffin :

(i)

(ii)
(iii)
(iv)

1-(iv), 2-(ii), 3-(i), 4-(iii)
1-(i), 2-(iii), 3-(iv), 4-(ii)
1-(iii), 2-(i), 3-(iv), 4-(ii)

1-(ii), 2-(iv), 3-(iii), 4-(i)

Fruit chat

Beetroot puri
Idli

Paneer parantha

Choose the correct option from the following :

(A)
(B)
©
(D)

(1) and (ii1)
(i1) and (iv)
(ii1) and (iv)

(11) and (111)
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12.
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Identify the labour saving devices to reduce physiological fatigue :
(1) Washing machine
(i)  Mixer grinder
(i)  Cooler
(iv)  Air purifier
Choose the correct option from the following :
(A) (1) and (iv) (B) (ii) and (iii)
(C)  (iii) and (iv) (D) (1) and (i1)

Given below are two statements labelled as Assertion (A) and Reason (R).

Assertion (A) : It is essential to fill the cracks in the walls and floor of a kitchen.

Reason (R) : It prevents the entry of insects.

Select the most appropriate answer from the options given below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

Given below are two statements labelled as Assertion (A) and Reason (R).

Assertion (A) :  Colourful rattles are meant for four-year-old children.

Reason (R) : Toys help in the mental development of children.

Select the most appropriate answer from the options given below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

11 VWAV AWV P.T_O_
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(A)  1-(ii), 2-(i), 3-(iv), 4(iii)
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14.

Case Study-based questions

Read the passage carefully and answer questions no. 14 to 18.

Time and energy are the resources available to all of us. These two resources are
very closely interlinked. Each one affects the other. Although energy available to
each one of us is different, but the time we all have with us is equal, i.e. 24 hours
in a day. If we want to finish our work properly and on time, we need to make
the best possible use of our time and energy. We must learn to manage our time
and energy properly.

Why is it important to have correct posture while sweeping and mopping the
floor ?

(A)  To keep the back bent

(B)  To reduce tiredness

(C)  To cause physical discomfort

(D)  To increase inefficiency

15. Match List I with List II :

37/S

List ] List I1
(Types of Activities) (Meaning)
1 Light activities (1) Requires average amount of energy
2.  Heavy activities (i1)) Needs very little energy
3. Moderate activities (i11)) Combining two or three activities
4.  Dovetailing (iv) Requires large amount of energy

Choose the correct option from the following :
(A)  1-(i1), 2-(1), 3-(iv), 4-(iii)
B)  1-(iv), 2-(iii), 3-(ii), 4-(1)
(C)  1-(3i1), 2-(iv), 3-(1), 4-(iii)
(D)  1-(iii), 2-(i1), 3-(i), 4-(iv)

P.T.O.
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16.

17.

18.

37/S

Which is the correct pair from the following ?

(A)
(B)
©
(D)

(a)

(b)

Flexible activity
Inflexible activity
Leisure period

Energy

Time plan should be
(A) Balanced

(B) Complex

(C) Fixed

(D) Unrealistic

OR

Which of the following is a correct method of work simplification ?

(A)  Keeping the bucket on the ground while hanging clothes for drying

Which cannot be delayed or changed
Which can be changed
Give rest to the body

Inability to do work

(B)  Carrying crockery in a tray

(C)  Taking glass plates for a picnic

(D)  Keeping the masala box on the topmost shelf of the kitchen

Identify the flexible activity in a time plan.

(A)
(B)
©)
(D)

Cleaning the house
Washing clothes
Cooking meals

Stitching clothes

15 VWAV AWV
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SECTION B

(Short-Answer Questions)

19. Which four points of personal hygiene should a person serving food in a hotel
follow ? 2

20. (a) Enumerate any two characteristics of language development of an

adolescent. 2

OR

(b) Discuss any two aspects of social development during adolescence.

21. Rakesh and Mayuri are parents of a one-year-old daughter. They are worried

about their child’s meals. Guide them which four points they should consider

while preparing meals for their infant. 2
22.  What do you mean by ‘Peak load period’ ? 2
23.  Metanil yellow colour is a common adulterant found in turmeric powder. 2

(1) Name two other foods which may be adulterated with this colour.

(i)  Give any one health hazard caused due to this adulterant.

24.  ‘Consumers face problem of poor quality of goods available in the market.’

Support this statement by giving two examples. 2

25.  (a) Blue is used as a finishing agent while washing which type of bedsheet ?
State one advantage of applying it. 2

OR

(b)  Why is it important to destarch cotton clothes before storing ?

37/S 17 VNIV P.T.O.
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27.

28.

29.

30.

31.
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Jenny went to the market to purchase tomatoes. She noticed a few vendors were

selling tomatoes at high prices. Mention what could be the three reasons for this

price variation. 3
(a) Micky is unable to manage his time through the entire day. Many times,
the day finishes and his tasks remain pending. 1+2=3
(1) Explain to him what a time plan is.
(i1)  Help him to make a time plan for himself after school hours to
prepare for unit tests.
OR
(b)  Sumita is a college-going student. Now-a-days due to excess studies, she
gets easily bored of her tasks.
(1) Which type of fatigue is she experiencing ?
(1))  Suggest to her two ways of reducing this fatigue.
(a) How is vegetable stain different from animal stain ? Give two examples
of each. 3
OR
(b)  Provide any three precautions to be followed while removing stains from
clothes, to your brother residing in a hostel.
Enlist any three milestones of motor development of 7 to 8-year-old children. 3
SECTION C
(Long-Answer Questions)
‘Play is an important aspect of human development and well-being.” Explain
four types of play with an appropriate example of each. 4
You have to purchase packaged fruit juice boxes for a party. 1+1+2=4
(1) Which food standard mark will you look for while buying them ?
(i1)  Write the full form of that food standard mark.
(i) Mention any two functions of this food standard framed by the
Government of India in the year 2006.
19 VAWMV P.T.O.
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(a) (1) Which two precautions are essential to maintain hygiene in

Mid-day meal kitchen ? 2+2=4
(1)  Present any two important points regarding suitable storage of
food items.
OR

(b)  Elaborate two principles each for hygienic handling of food with regard to

the following :
(1) While selecting food
(i)  While cooking food

Mrs. Dubey plans meals for her family. She is keen to improve her meal planning

skills with the guidance of her dietician daughter. 3+1=4

(1) Mention three factors affecting meal planning which her daughter would

explain to her.

(i1))  Suggest to her one low cost food item each in place of paneer and

almonds.

(1) Shahid has shifted to another city for his job. He has to store all his

woollens safely to avoid their damage. Suggest to him four precautions to

be taken while storing his woollen garments for a long time. 4+1=5

(i)  Why does he need to air the woollen garments after taking them out of

storage before use ?
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35. (a) Lakshay is a school-going child. He brings junk food in his tiffin daily.

His teacher has called his parents to school for nutrition counselling.
2+25+5=5
(1) Which two suggestions will the teacher give to the parents to
improve his diet ?
(i1)  To make him aware, enlist five food groups.

(i11)  Motivate him to eat green vegetables by informing any one nutrient
present in them.

OR
(b) A school canteen is serving the following menu —
Rajma and Rice, Burger and French fries, Cheese Pizza, Momos

(1) Which among these is the healthiest option you will choose ? Name
any two of its main nutrients.

(i)  Which five points will you suggest to the canteen owner while
planning meals for adolescents ?

(i)  Suggest any one other nutritious dish which can be served in the
canteen.



